Exhibit B

Reimbursement Claims for the Last 11 Months and summery Detail for Reimbursement

SNP Claim For Reimbursement Summary

Rocky Hill School District 11900 Status: Active

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution Type of SNP Organization: Public

Confirmation #: BD3FDP

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Jan 2024	0	02/14/2024	02/14/2024	02/27/2024	Original

Sponsor Totals

Meal Type	Meals/Supplements Served	Federal Rate	Reimbursement Federal Amount
National School Lunch Program			
Free	5,484	4.2500	23,307.00
Reduced	1,359	3.8500	5,232.15
Paid	13,998	0.4000	5,599.20
Total	20,841		34,138.35
Performance-Based Reimbursement (Lunch)			
Claimed	20,841	0.0800	1,667.28
Adjusted	0	0.0800	0.00
Total	20,841		1,667.28
School Breakfast Program			
Free	2,535	2.2800	5,779.80
Reduced	551	1.9800	1,090.98
Paid	9,036	0.3800	3,433.68
Total	12,122		10,304.46
Claim Reimbursement Total			46,110.09

Sponsor Claim Reimbursement Totals	
Current Claim Reimbursement Total	46,110.09
Previous Claim Reimbursement Total	0.00
Net Claim Reimbursement Total	46,110.09

Show Site Meal Details

11900 Sta

Status: Active

Rocky Hill School District

61 Status: Active

ROCKY HILL HIGH SCHOOL

50 Chapin Ave Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code	
Jan 2024	0	02/14/2024	02/14/2024	02/27/2024	Original	
School Nutritio	on Program Genei	al Information	_			
G1. Total Numbe	r of Children Approve	d for Free Meals:		138		
G2. Total Numbe	r of Children Approve	d for Reduced Price	e Meals:	33		
G3. Attendance F	actor Percentage:			94.4		
National Schoo	ol Lunch Program					
L1. Number of E	nrolled Children:			720		
L2. Number Ope	rating Days:			20		
L3. Reimbursable	Lunches Served					
a. Free Lunci	nes Served:	•		1,516		
b. Reduced P	rice Lunches Served	:		384		
c. Paid Lunch	nes Served:		3,624			
d. Total Lunc	d. Total Lunches Served (a + b + c):			5,524		
School Breakfa	st Program (Reg	ular Reimburser	ment)			
B1. Number of E	nrolled Children:			720		
B2. Number Ope	rating Days:			20		
B3. Reimbursable	Breakfasts Served					
a. Free Breal	kfasts Served:			867		
b. Reduced P	Price Breakfasts Serve	ed:		220		
c. Paid Break	fasts Served:			2,793		
d. Total Brea	kfasts Served (a + b	+ c):		3,880		

Created By: JWhite on: 2/8/2024 5:02:41 PM Modified By: JWhite on: 2/8/2024 5:04:11 PM

11900

Status: Active

Rocky Hill School District

51 Status: Active

ALBERT D. GRISWOLD MIDDLE SCHOOL

144 Bailey Road Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627 Type of Agency: Educational I

Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Jan 2024	0	02/14/2024	02/14/2024	02/27/2024	Original
School Nutritio	on Program Gener	al Information			
G1. Total Numbe	r of Children Approve	ed for Free Meals:		111	
G2. Total Numbe	r of Children Approve	d for Reduced Price	e Meals:	27	
G3. Attendance F	Factor Percentage:			96.0	
	ol Lunch Program			617	
L2. Number Ope	rating Days:			20	
L3. Reimbursable	Lunches Served				
a. Free Lunc	hes Served:			1,547	
b. Reduced F	Price Lunches Served	:		349	
c. Paid Lunch					
	nes Served:			4,133	

Created By: JWhite on: 2/8/2024 5:01:22 PM Modified By: JWhite on: 2/8/2024 5:02:03 PM

11900 Status: Active

Rocky Hill School District

02 Status: Active **MOSER SCHOOL** 10 School Street Rocky Hill, CT 06067

DBA: Rocky Hill Board of Education 761 Óld Main Street

Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Jan 2024	0	02/14/2024	02/14/2024	02/27/2024	Original
School Nutritio	n Program Gener	al Information			
G1. Total Number	r of Children Approve	d for Free Meals:		69	
G2. Total Number	r of Children Approve	d for Reduced Price	e Meals:	17	
G3. Attendance F	actor Percentage:			96.0	
National Schoo	l Lunch Program				
L1. Number of E	nrolled Children:			390	
L2. Number Ope	rating Days:			20	
L3. Reimbursable	Lunches Served				
a. Free Lunch	nes Served:			840	
b. Reduced P	rice Lunches Served:			230	
c. Paid Lunch	es Served:			2,116	
d. Total Lunc	hes Served (a + b +	c):		3,186	
School Breakfa	st Program (Regu	ılar Reimbursen	nent)		
B1. Number of E	nrolled Children:			390	
B2. Number Ope	rating Days:			20	
B3. Reimbursable	Breakfasts Served				
a. Free Break	fasts Served:			655	
b. Reduced P	rice Breakfasts Serve	d:		128	
c. Paid Break	fasts Served:			1,775	
d. Total Brea	kfasts Served (a + b	+ c):		2,558	

Created By: JWhite on: 2/8/2024 4:55:53 PM Modified By: JWhite on: 2/8/2024 4:57:19 PM

11900 Status: Active

Rocky Hill School District

04 Status: Active

MYRTLE H. STEVENS SCHOOL

322 Orchard Street Rocky Hill, CT 06067

DBA: Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Jan 2024	0	02/14/2024	02/14/2024	02/27/2024	Original
School Nutritio	n Program Genei	ral Information			
G1. Total Number	r of Children Approve	ed for Free Meals:		87	
G2. Total Number	r of Children Approve	ed for Reduced Price	e Meals:	29	
G3. Attendance F	actor Percentage:			93.3	
National Schoo	l Lunch Program				
L1. Number of E	nrolled Children:			412	
L2. Number Oper	rating Days:			20	
L3. Reimbursable	Lunches Served				
a. Free Lunch	nes Served:			980	
b. Reduced P	rice Lunches Served	:		317	
c. Paid Lunch	es Served:			2,017	
d. Total Lunc	hes Served (a + b +	c):		3,314	
School Breakfa	st Program (Reg	ular Reimburser	nent)		
B1. Number of Er	nrolled Children:			412	
B2. Number Oper	rating Days:			18	
B3. Reimbursable	Breakfasts Served				
a. Free Break	fasts Served:			539	
b. Reduced P	rice Breakfasts Serve	ed:		146	
c. Paid Break	fasts Served:			1,665	
d. Total Breal	kfasts Served (a + b	+ c):		2,350	

11900 Status: Active

Rocky Hill School District

05 Status: Active **WEST HILL SCHOOL**

95 Cronin Street Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education

761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code		
Jan 2024	0	02/14/2024	02/14/2024	02/27/2024	Original		
School Nutritio	n Program Gene	ral Information					
G1. Total Numbe	r of Children Approve	ed for Free Meals:		46			
G2. Total Numbe	r of Children Approve	ed for Reduced Price	e Meals:	8			
G3. Attendance F	actor Percentage:			94.0			
National School	l Lunch Program						
L1. Number of E	nrolled Children:			407			
L2. Number Ope	rating Days:			20			
L3. Reimbursable	Lunches Served						
a. Free Luncl	nes Served:			601			
b. Reduced P	rice Lunches Served	:		79			
c. Paid Lunch	es Served:			2,108			
d. Total Lunc	hes Served (a + b +	c):		2,788			
School Breakfa	st Program (Reg	ular Reimburser	nent)				
B1. Number of E	nrolled Children:			407			
B2. Number Ope	rating Days:			18			
B3. Reimbursable	Breakfasts Served						
a. Free Break	kfasts Served:			474			
b. Reduced P	rice Breakfasts Serv	ed:		57			
c. Paid Break	fasts Served:			2,803			
d. Total Brea	kfasts Served (a + b	+ c):		3,334			

Created By: JWhite on: 2/8/2024 4:59:46 PM Modified By: JWhite on: 2/8/2024 5:00:48 PM

SNP Claim For Reimbursement Summary

Rocky Hill School District

11900 Status: Active

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution Type of SNP Organization: Public

Confirmation #: CEEA4H

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Feb 2024	0	03/12/2024	03/12/2024	03/27/2024	Original

Sponsor Totals

Meal Type	Meals/Supplements Served	Federal Rate	Reimbursement Federal Amount
National School Lunch Program			
Free	5,050	4.2500	21,462.50
Reduced	1,255	3.8500	4,831.75
Paid	13,083	0.4000	5,233.20
Total	19,388		31,527.45
Performance-Based Reimbursement (Lunch)			
Claimed	19,388	0.0800	1,551.04
Adjusted	0	0.0800	0.00
Total	19,388		1,551.04
School Breakfast Program			
Free	2,415	2.2800	5,506.20
Reduced	539	1.9800	1,067.22
Paid	8,594	0.3800	3,265.72
Total	11,548		9,839.14
Claim Reimbursement Total			42,917.63

Sponsor Claim Reimbursement Totals		
Current Claim Reimbursement Total	42,917.63	
Previous Claim Reimbursement Total	0.00	
Net Claim Reimbursement Total	42,917.63	

Show Site Meal Details

11900 Status: Active

Rocky Hill School District

Status: Active 61

ROCKY HILL HIGH SCHOOL

50 Chapin Ave Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education

761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code	
Feb 2024	0	03/12/2024	03/12/2024	03/27/2024	Original	
School Nutritic	on Program Genei	ral Information				
G1. Total Numbe	er of Children Approve	ed for Free Meals:		143		
G2. Total Numbe	er of Children Approve	ed for Reduced Price	e Meals:	33		
G3. Attendance I	Factor Percentage:			94.4		
National School	ol Lunch Program					
L1. Number of E	nrolled Children:			724		
L2. Number Ope	erating Days:			17		
L3. Reimbursable	e Lunches Served					
a. Free Lunc	hes Served:			1,584		
b. Reduced F	Price Lunches Served	:				
c. Paid Lunch	c. Paid Lunches Served:			4,019		
d. Total Lunc	thes Served (a + b +	c):		6,025		
School Breakfa	ast Program (Reg	ular Reimburser	ment)			
B1. Number of E	nrolled Children:			724		
B2. Number Ope	Number Operating Days:			17		
B3. Reimbursable	e Breakfasts Served					
a. Free Brea	kfasts Served:			848		
b. Reduced F	Price Breakfasts Serve	ed:		192		
c. Paid Break	kfasts Served:			2,769		
d. Total Brea	kfasts Served (a + b	+ c):		3,809		

Created By: JWhite on: 3/11/2024 4:10:44 PM Modified By: JWhite on: 3/11/2024 4:11:41 PM

11900

Status: Active

Rocky Hill School District

51 Status: Active

ALBERT D. GRISWOLD MIDDLE SCHOOL

144 Bailey Road Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Feb 2024	0	03/12/2024	03/12/2024	03/27/2024	Original
School Nutritio	n Program Gener	al Information			
G1. Total Number	r of Children Approve	d for Free Meals:		112	
G2. Total Number	r of Children Approve	d for Reduced Price	e Meals:	26	
G3. Attendance F	factor Percentage:			96.0	
_	ol Lunch Program			615	
L2. Number Ope	rating Days:		17		
L3. Reimbursable	Lunches Served				
a. Free Lunch	a. Free Lunches Served:			1,442	
b. Reduced P	rice Lunches Served:			312	
c. Paid Lunch	es Served:			3,804	
d. Total Lunc	hes Served (a + b +	c):		5,558	

11900

Status: Active

Rocky Hill School District

02 Status: Active **MOSER SCHOOL** 10 School Street Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education
761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Feb 2024	eb 2024 0 03/12/2024		03/12/2024	03/27/2024	Original
School Nutritio	on Program Gener	al Information			
G1. Total Numbe	r of Children Approve	d for Free Meals:		70	
G2. Total Numbe	r of Children Approve	d for Reduced Price	e Meals:	17	
G3. Attendance F	actor Percentage:			96.0	
National Schoo	ol Lunch Program				
L1. Number of E	nrolled Children:			392	
L2. Number Ope	rating Days:				
L3. Reimbursable	Lunches Served				
a. Free Luncl	a. Free Lunches Served:			682	
b. Reduced P	Price Lunches Served:	:		177	
c. Paid Lunch	nes Served:				
d. Total Lunc	hes Served (a + b +	c):		2,654	
School Breakfa	st Program (Reg	ular Reimburser	ment)		
B1. Number of E	nrolled Children:			392	
B2. Number Ope	rating Days:			17	
B3. Reimbursable	Breakfasts Served				
a. Free Breal	kfasts Served:			591	
b. Reduced F	Price Breakfasts Serve	ed:		138	
c. Paid Break	fasts Served:			1,689	
d. Total Brea	kfasts Served (a + b	+ c):		2,418	

Created By: JWhite on: 3/11/2024 4:08:23 PM Modified By: JWhite on: 3/11/2024 4:09:26 PM

11900

Status: Active

Rocky Hill School District

Status: Active

MYRTLE H. STEVENS SCHOOL

322 Orchard Street Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education
761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Feb 2024	0	03/12/2024	03/12/2024	03/27/2024	Original
School Nutritio	n Program Gene	ral Information			
G1. Total Number	r of Children Approve	ed for Free Meals:		88	
G2. Total Number	r of Children Approve	ed for Reduced Price	e Meals:	30	
G3. Attendance F	actor Percentage:			93.3	
National Schoo	l Lunch Program	·			
L1. Number of E	nrolled Children:			414	
L2. Number Ope	rating Days:			17	
L3. Reimbursable	Lunches Served				
a. Free Lunch	nes Served:			803	
b. Reduced P	rice Lunches Served	:		276	
c. Paid Lunch	nes Served:				
d. Total Lunc	hes Served (a + b +	c):		2,786	
School Breakfa	st Program (Reg	ular Reimburser	nent)		
B1. Number of E	nrolled Children:			414	
B2. Number Ope	rating Days:			17	
B3. Reimbursable	Breakfasts Served				
a. Free Break	kfasts Served:			502	
b. Reduced P	rice Breakfasts Serve	ed:		144	
c. Paid Break	fasts Served:			1,485	
d. Total Brea	kfasts Served (a + b	+ c):		2,131	

Created By: JWhite on: 3/11/2024 4:12:24 PM Modified By: JWhite on: 3/11/2024 4:13:17 PM

11900 Status: Active

Rocky Hill School District

05 Status: Active
WEST HILL SCHOOL

95 Cronin Street Rocky Hill, CT 06067

DBA:

Code

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution
Type of SNP Organization: Public

Warning Description

23417 SBP: Free Breakfasts Served equal Free Breakfasts Served for the prior month's claim.

	nth/Year imed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Feb	2024	0	03/12/2024	03/12/2024	03/27/2024	Original
Sch	ool Nutritio	n Program Gener	al Information			
G1.	Total Number	of Children Approve	d for Free Meals:		50	
G2.	Total Number	of Children Approve	d for Reduced Price	e Meals:	8	
G3.	Attendance Fa	actor Percentage:			94.0	
Nat	ional School	l Lunch Program				
L1.	Number of En	rolled Children:			403	
L2.	Number Oper	ating Days:			17	
L3.	Reimbursable	Reimbursable Lunches Served				
	a. Free Lunch	a. Free Lunches Served:			539	
	b. Reduced Pr	rice Lunches Served:		68		
	c. Paid Lunch	es Served:			1,758	
	d. Total Lunch	nes Served (a + b +	c):		2,365	
Sch	ool Breakfa	st Program (Regu	ılar Reimburser	nent)		
B1.	Number of En	rolled Children:			403	
B2.	Number Oper	umber Operating Days:			17	
В3.	Reimbursable	Breakfasts Served				
	a. Free Break	fasts Served:			474	
	b. Reduced Pr	rice Breakfasts Serve	ed:		65	
	c. Paid Breakf	fasts Served:		2,651		
	d. Total Break	fasts Served (a + b	+ c):		3,190	

Created By: JWhite on: 3/11/2024 4:14:10 PM Modified By: JWhite on: 3/11/2024 4:15:49 PM

SNP Claim For Reimbursement Summary

Rocky Hill School District

11900 Status: Active

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution Type of SNP Organization: Public

Confirmation #: ACOKIE

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Mar 2024	0	04/03/2024	04/03/2024	04/26/2024	Original

Sponsor Totals

Meal Type	Meals/Supplements Served	Federal Rate	Reimbursement Federal Amount
National School Lunch Program			
Free	5,741	4.2500	24,399.25
Reduced	1,434	3.8500	5,520.90
Paid	14,819	0.4000	5,927.60
Total	21,994		35,847.75
Performance-Based Reimbursement (Lunch)			
Claimed	21,994	0.0800	1,759.52
Adjusted	0	0.0800	0.00
Total	21,994		1,759.52
School Breakfast Program			
Free	2,737	2.2800	6,240.36
Reduced	569	1.9800	1,126.62
Paid	9,743	0.3800	3,702.34
Total	13,049		11,069.32
Claim Reimbursement Total			48,676.59

Sponsor Claim Reimbursement Totals	
Current Claim Reimbursement Total	48,676.59
Previous Claim Reimbursement Total	0.00
Net Claim Reimbursement Total	48,676.59

Show Site Meal Details

11900 Status: Active

Rocky Hill School District

61 Status: Active

ROCKY HILL HIGH SCHOOL

50 Chapin Ave Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Mar 2024	0	04/03/2024	04/03/2024	04/26/2024	Original
School Nutrition	n Program Gener	al Information			
G1. Total Number	of Children Approve	d for Free Meals:		149	
G2. Total Number	of Children Approve	d for Reduced Price	e Meals:	33	
G3. Attendance Fa	actor Percentage:			94.4	
National School	Lunch Program				
L1. Number of En	rolled Children:			727	
L2. Number Oper	ating Days:			20	
L3. Reimbursable	Lunches Served				
a. Free Lunch	es Served:			1,727	
b. Reduced Pr	ice Lunches Served:				
c. Paid Lunche	es Served:				
d. Total Lunch	nes Served (a + b +	c):	6,646		
School Breakfas	st Program (Regi	ular Reimburser	ment)		
B1. Number of En	rolled Children:			727	
B2. Number Oper	ating Days:			20	
B3. Reimbursable	Breakfasts Served				
a. Free Break	fasts Served:			940	
b. Reduced Pr	rice Breakfasts Serve	ed:		176	
c. Paid Breakf	asts Served:		3,305		
d. Total Break	fasts Served (a + b	+ c):		4,421	

Created By: JWhite on: 4/3/2024 2:20:23 PM Modified By: JWhite on: 4/3/2024 2:21:31 PM

11900

Status: Active

Rocky Hill School District

51 Status: Active

ALBERT D. GRISWOLD MIDDLE SCHOOL

144 Bailey Road Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Mar 2024	0	04/03/2024	04/03/2024	04/26/2024	Original
School Nutritic	on Program Gener	al Information			
G1. Total Numbe	r of Children Approve	d for Free Meals:		116	
G2. Total Numbe	r of Children Approve	d for Reduced Price	e Meals:	26	
G3. Attendance f	actor Percentage:			96.0	
	nrolled Children:			622	
L2. Number Ope	rating Days:			20	
L3. Reimbursable	Lunches Served				
a. Free Lunc	hes Served:			1,560	
b. Reduced F	Price Lunches Served:			344	
c. Paid Lunch	c. Paid Lunches Served:			4,215	
d. Total Lunc	hes Served (a + b +	c):		6,119	

11900

Status: Active

Rocky Hill School District

02 Status: Active MOSER SCHOOL 10 School Street Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education
761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code	
Mar 2024	0	04/03/2024	04/03/2024	04/26/2024	Original	
School Nutritio	n Program Genei	al Information				
G1. Total Number	r of Children Approve	ed for Free Meals:		69		
G2. Total Number	r of Children Approve	d for Reduced Price	e Meals:	16		
G3. Attendance F	actor Percentage:			96.0		
National Schoo	l Lunch Program					
L1. Number of Er	nrolled Children:			387		
L2. Number Oper	rating Days:			20		
L3. Reimbursable	Lunches Served					
a. Free Lunch	nes Served:			818		
b. Reduced P	rice Lunches Served	:	218			
c. Paid Lunch	es Served:					
d. Total Lunci	hes Served (a + b +	c):		3,074		
School Breakfa	st Program (Reg	ular Reimbursen	nent)			
B1. Number of Er	nrolled Children:			387		
B2. Number Oper	rating Days:			20		
B3. Reimbursable	Breakfasts Served					
a. Free Break	fasts Served:			725		
b. Reduced P	rice Breakfasts Serve	ed:		172		
c. Paid Break	fasts Served:		2,186			
d. Total Breal	kfasts Served (a + b	+ c):		3,083		

Created By: JWhite on: 4/3/2024 2:18:31 PM Modified By: JWhite on: 4/3/2024 2:19:51 PM

11900

Status: Active

Rocky Hill School District

04 Status: Active

MYRTLE H. STEVENS SCHOOL

322 Orchard Street Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education

761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code	
Mar 2024	0	04/03/2024	04/03/2024	04/26/2024	Original	
School Nutritio	n Program Gener	al Information				
G1. Total Number	r of Children Approve	d for Free Meals:		91		
G2. Total Number	r of Children Approve	d for Reduced Price	e Meals:	30		
G3. Attendance F	actor Percentage:			93.3		
National Schoo	l Lunch Program					
L1. Number of Er	nrolled Children:			418		
L2. Number Oper	rating Days:			20		
L3. Reimbursable	Lunches Served					
a. Free Lunch	nes Served:		944			
b. Reduced P	rice Lunches Served:		323			
c. Paid Lunch	es Served:					
d. Total Lunci	hes Served (a + b +	c):				
School Breakfa	st Program (Reg	ular Reimbursen	nent)			
B1. Number of Er	nrolled Children:			418		
B2. Number Oper	2. Number Operating Days:			20		
B3. Reimbursable	Breakfasts Served					
a. Free Break	fasts Served:			559		
b. Reduced P	rice Breakfasts Serve	ed:		161		
c. Paid Break	c. Paid Breakfasts Served:			1,578		
d. Total Breal	kfasts Served (a + b	+ c):		2,298		

11900 Status: Active

Status: Active **WEST HILL SCHOOL**

Rocky Hill School District

95 Cronin Street Rocky Hill, CT 06067

DBA: Rocky Hill Board of Education

761 Old Main Street Rocky Hill, CT 06067-0627 Type of Agency: Educational Institution Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code	
Mar 2024	0	04/03/2024	04/03/2024	04/26/2024	Original	
School Nutriti	on Program Gener	al Information				
G1. Total Numbe	er of Children Approve	d for Free Meals:		52		
G2. Total Numbe	er of Children Approve	d for Reduced Price	e Meals:	8		
G3. Attendance	Factor Percentage:			94.0		
National Scho	ol Lunch Program					
L1. Number of E	Enrolled Children:			405		
L2. Number Ope	erating Days:		20			
L3. Reimbursabl	Reimbursable Lunches Served					
a. Free Lund	a. Free Lunches Served:			692		
b. Reduced	Price Lunches Served:					
c. Paid Lunc	hes Served:					
d. Total Lun	ches Served (a + b +	c):	2,863			
School Breakf	ast Program (Regi	ular Reimburser	ment)			
B1. Number of E	Enrolled Children:			405		
B2. Number Ope	erating Days:			20		
B3. Reimbursabl	le Breakfasts Served					
a. Free Brea	kfasts Served:			513		
b. Reduced	Price Breakfasts Serve	ed:		60		
c. Paid Brea	kfasts Served:					
d. Total Brea	akfasts Served (a + b	+ c):		3,247		

Created By: JWhite on: 4/3/2024 2:23:56 PM Modified By: JWhite on: 4/3/2024 2:25:00 PM

SNP Claim For Reimbursement Summary

Rocky Hill School District

11900 DBA:

Status: Active

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution Type of SNP Organization: Public

Confirmation #: BHUEC0

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Apr 2024	0	05/09/2024	05/09/2024	05/28/2024	Original

Sponsor Totals

Meal Type	Meals/Supplements Served	Federal Rate	Reimbursement Federal Amount
National School Lunch Program			
Free	5,512	4.2500	23,426.00
Reduced	1,236	3.8500	4,758.60
Paid	13,192	0.4000	5,276.80
Total	19,940		33,461.40
Performance-Based Reimbursement (Lunch)			
Claimed	19,940	0.0800	1,595.20
Adjusted	0	0.0800	0.00
Total	19,940		1,595.20
School Breakfast Program			
Free	2,671	2.2800	6,089.88
Reduced	546	1.9800	1,081.08
Paid	8,732	0.3800	3,318.16
Total	11,949		10,489.12
Claim Reimbursement Total			45,545.72

Sponsor Claim Reimbursement Totals	
Current Claim Reimbursement Total	45,545.72
Previous Claim Reimbursement Total	0.00
Net Claim Reimbursement Total	45,545.72

Show Site Meal Details

11900 Status: Active Status: Active

Rocky Hill School District

ROCKY HILL HIGH SCHOOL

50 Chapin Ave Rocky Hill, CT 06067

DBA: Rocky Hill Board of Education

761 Old Main Street Rocky Hill, CT 06067-0627 Type of Agency: Educational Institution Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code	
Apr 2024	0	05/09/2024	05/09/2024	05/28/2024	Original	
School Nutrit	ion Program Gener	al Information				
31. Total Numb	per of Children Approve	d for Free Meals:		150		
32. Total Numb	oer of Children Approve	d for Reduced Price	e Meals:	29		
33. Attendance	Factor Percentage:			94.4		
National Sch	ool Lunch Program					
.1. Number of	Enrolled Children:			723		
.2. Number Op	perating Days:		17			
.3. Reimbursat	ole Lunches Served					
a. Free Lur	nches Served:			1,660		
b. Reduced	Price Lunches Served	:	363			
c. Paid Lun	ches Served:			4,006		
d. Total Lui	nches Served (a + b +	c):		6,029		
School Break	fast Program (Reg	ular Reimbursen	nent)			
31. Number of	Enrolled Children:			723		
32. Number Op	perating Days:			17		
33. Reimbursat	ole Breakfasts Served					
a. Free Bre	akfasts Served:			939		
b. Reduced	l Price Breakfasts Serve	ed:		167		
c. Paid Bre	akfasts Served:			2,920		
d. Total Bro	eakfasts Served (a + b	+ c):		4,026		

Created By: JWhite on: 5/9/2024 9:01:38 AM Modified By: JWhite on: 5/9/2024 9:03:08 AM

11900

Status: Active

Rocky Hill School District

Status: Active

ALBERT D. GRISWOLD MIDDLE SCHOOL

144 Bailey Road Rocky Hill, CT 06067

DBA:

DBA:
Rocky Hill Board of Education
761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Apr 2024	0	05/09/2024	05/09/2024	05/28/2024	Original
School Nutrition	on Program Gener	al Information		<u></u>	
G1. Total Numbe	er of Children Approve	ed for Free Meals:		122	
G2. Total Numbe	er of Children Approve	d for Reduced Price	Meals:	25	
G3. Attendance	3. Attendance Factor Percentage: 96.0				
	ol Lunch Program				
L1. Number of E	'II-d Childuss.				
	enrollea Chilaren:			625	
L2. Number Ope	erating Days:			625 17	
•					
•	erating Days: e Lunches Served				
L3. Reimbursable	erating Days: e Lunches Served	:		17	

5,628

Created By: JWhite on: 5/9/2024 9:03:48 AM Modified By: JWhite on: 5/9/2024 9:04:30 AM

d. Total Lunches Served (a + b + c):

11900 Status: Active

Rocky Hill School District

02 Status: Active MOSER SCHOOL 10 School Street Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627 Type of Agency: Educational Institution Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Apr 2024	0	05/09/2024	05/09/2024	05/28/2024	Original
School Nutritio	n Program Gener	al Information			
G1. Total Number	of Children Approve	d for Free Meals:		73	
32. Total Number	of Children Approve	d for Reduced Price	e Meals:	17	
G3. Attendance F	actor Percentage:			96.0	
National Schoo	l Lunch Program				
L1. Number of Er	nrolled Children:			392	
.2. Number Oper	ating Days:			17	
3. Reimbursable	Lunches Served				
a. Free Lunch	es Served:			784	
b. Reduced Pr	rice Lunches Served:			201	
c. Paid Lunch	es Served:				
d. Total Lunch	nes Served (a + b +	c):		2,825	
School Breakfa	st Program (Reg	ular Reimbursen	nent)		
31. Number of En	rolled Children:			392	
32. Number Oper	ating Days:			17	
33. Reimbursable	Breakfasts Served				
a. Free Break	fasts Served:			637	
b. Reduced Pr	rice Breakfasts Serve	ed:		150	
c. Paid Break	fasts Served:			1,908	
d. Total Break	(fasts Served (a + b	+ c):		2,695	

Created By: JWhite on: 5/9/2024 9:04:58 AM Modified By: JWhite on: 5/9/2024 9:06:11 AM

11900 Status: Active

Rocky Hill School District

04 Status: Active

MYRTLE H. STEVENS SCHOOL

322 Orchard Street Rocky Hill, CT 06067

DBA: Rocky Hill Board of Education 761 Old Main Street

Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Apr 2024	0	05/09/2024	05/09/2024	05/28/2024	Original
School Nutritio	n Program Genei	ral Information			
G1. Total Number	of Children Approve	ed for Free Meals:		94	
G2. Total Number	of Children Approve	ed for Reduced Price	e Meals:	29	
G3. Attendance F	actor Percentage:			93.3	
National Schoo	l Lunch Program				
L1. Number of Er	nrolled Children:			419	
L2. Number Oper	rating Days:			17	
L3. Reimbursable	Lunches Served				
a. Free Lunch	es Served:			912	
b. Reduced P	rice Lunches Served:	1	285		
c. Paid Lunch	es Served:				
d. Total Lunci	nes Served (a + b +	c):	2,986		
School Breakfa	st Program (Reg	ular Reimburser	ment)		
31. Number of Er	rolled Children:			419	
32. Number Oper	rating Days:			17	
33. Reimbursable	Breakfasts Served				
a. Free Break	fasts Served:			608	
b. Reduced P	rice Breakfasts Serve	ed:		171	
c. Paid Break	fasts Served:			1,397	
d. Total Break	(fasts Served (a + b	+ c):		2,176	

Created By: JWhite on: 5/9/2024 9:06:37 AM Modified By: JWhite on: 5/9/2024 9:07:37 AM

11900

Status: Active

Rocky Hill School District

05 Status: Active **WEST HILL SCHOOL**

95 Cronin Street Rocky Hill, CT 06067

DBA:

DBA:
Rocky Hill Board of Education
761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Apr 2024	0	05/09/2024	05/09/2024	05/28/2024	Original
School Nutritio	n Program Genei	ral Information			
61. Total Number	of Children Approve	ed for Free Meals:		52	
32. Total Number	of Children Approve	ed for Reduced Price	e Meals:	8	
33. Attendance F	actor Percentage:			94.0	
National Schoo	l Lunch Program				····
.1. Number of Er	rolled Children:			407	
.2. Number Oper	ating Days:			17	
.3. Reimbursable	Lunches Served				
a. Free Lunch	es Served:			601	
b. Reduced P	rice Lunches Served	:		82	
c. Paid Lunch	es Served:				
d. Total Lunci	nes Served (a + b +	c):		2,472	
School Breakfa	st Program (Reg	ular Reimburser	ment)		
31. Number of Er	rolled Children:			407	
32. Number Oper	ating Days:			17	
33. Reimbursable	Breakfasts Served				
a. Free Break	fasts Served:			487	
b. Reduced P	rice Breakfasts Serve	ed:		58	
c. Paid Break	fasts Served:			2,507	
				•	

Created By: JWhite on: 5/9/2024 9:08:06 AM Modified By: JWhite on: 5/9/2024 9:09:00 AM

SNP Claim For Reimbursement Summary

Rocky Hill School District

11900 Status: Active

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution Type of SNP Organization: Public

Confirmation #: BAFKEH

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
May 2024	0	06/07/2024	06/07/2024	06/21/2024	Original

Sponsor Totals

Meal Type	Meals/Supplements Served	Federal Rate	Reimbursement Federal Amount
National School Lunch Program			
Free	7,011	4.2500	29,796.75
Reduced	1,511	3.8500	5,817.35
Paid	16,919	0.4000	6,767.60
Total	25,441		42,381.70
Performance-Based Reimbursement (Lunch)			
Claimed	25,441	0.0800	2,035.28
Adjusted	0	0.0800	0.00
Total	25,441		2,035.28
School Breakfast Program			
Free	3,456	2.2800	7,879.68
Reduced	746	1.9800	1,477.08
Paid	11,273	0.3800	4,283.74
Total	15,475		13,640.50
Claim Reimbursement Total			58,057.48

Sponsor Claim Reimbursement Totals	
Current Claim Reimbursement Total	58,057.48
Previous Claim Reimbursement Total	0.00
Net Claim Reimbursement Total	58,057.48

Show Site Meal Details

11900

Status: Active

Rocky Hill School District

61 Status: Active

ROCKY HILL HIGH SCHOOL

50 Chapin Ave Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code	
May 2024	0	06/07/2024	06/07/2024	06/21/2024	Original	
School Nutritio	on Program Gener	al Information				
G1. Total Numbe	r of Children Approve	d for Free Meals:		150		
32. Total Numbe	r of Children Approve	d for Reduced Price	e Meals:	28		
G3. Attendance F	actor Percentage:			94.4		
National Schoo	ol Lunch Program				_	
.1. Number of E	nrolled Children:	.		718		
2. Number Ope	rating Days:			22		
.3. Reimbursable	Lunches Served					
a. Free Lunci	a. Free Lunches Served:			2,042		
b. Reduced P	rice Lunches Served:	:		414		
c. Paid Lunch	Paid Lunches Served:			4,905		
d. Total Lunc	hes Served (a + b +	c):		7,361		
School Breakfa	st Program (Reg	ular Reimbursen	ment)			
31. Number of E	nrolled Children:			718		
32. Number Ope	rating Days:			22		
33. Reimbursable	Breakfasts Served					
a. Free Break	kfasts Served:			1,242		
b. Reduced P	rice Breakfasts Serve	ed:		210		
c. Paid Break	fasts Served:			3,554		
d. Total Brea	kfasts Served (a + b	+ c):		5,006		

Created By: JWhite on: 6/6/2024 4:22:26 PM Modified By: JWhite on: 6/6/2024 4:23:34 PM

11900

Status: Active

Rocky Hill School District

51 Status: Active

ALBERT D. GRISWOLD MIDDLE SCHOOL

144 Bailey Road Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
May 2024	0	06/07/2024	06/07/2024	06/21/2024	Original
School Nutritic	on Program Gener	al Information			
G1. Total Numbe	r of Children Approve	d for Free Meals:		126	
G2. Total Numbe	r of Children Approve	d for Reduced Price	e Meals:	25	
G3. Attendance F	Factor Percentage:			96.0	
· · · · · · · · · · · · · · · · · · ·	ol Lunch Program	· . · · · · · · · · · · · · · · · · · ·			
	nrolled Children:			628	
2. Number Ope				628 22	
•					
•	rating Days: e Lunches Served				
L3. Reimbursable	rating Days: e Lunches Served			22	
L3. Reimbursable	rating Days: e Lunches Served hes Served: Price Lunches Served:			22 1,922	

Created By: JWhite on: 6/6/2024 4:21:06 PM Modified By: JWhite on: 6/6/2024 4:22:05 PM

11900 Status: Active

Rocky Hill School District

02 Status: Active **MOSER SCHOOL** 10 School Street Rocky Hill, CT 06067

DBA: Rocky Hill Board of Education 761 Old Main Street

Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
May 2024	0	06/07/2024	06/07/2024	06/21/2024	Original
School Nutritio	on Program Gener	al Information			
G1. Total Numbe	r of Children Approve	d for Free Meals:		73	
G2. Total Numbe	r of Children Approve	d for Reduced Price	e Meals:	17	
G3. Attendance F	actor Percentage:			96.0	
National School	l Lunch Program				
L1. Number of E	nrolled Children:			391	
L2. Number Ope	rating Days:			22	
L3. Reimbursable	Lunches Served				
a. Free Luncl	nes Served:			1,023	
b. Reduced P	rice Lunches Served:			277	
c. Paid Lunch	es Served:			2,484	
d. Total Lunc	hes Served (a + b +	c):		3,784	
School Breakfa	st Program (Regi	ılar Reimburser	ment)		
B1. Number of E	nrolled Children:			391	
32. Number Ope	rating Days:			22	
33. Reimbursable	Breakfasts Served				
a. Free Break	kfasts Served:			876	
b. Reduced P	rice Breakfasts Serve	ed:		242	
c. Paid Break	fasts Served:			2,617	
d. Total Brea	kfasts Served (a + b	+ c):		3,735	

11900 Status: Active

Rocky Hill School District

04 Status: Active

MYRTLE H. STEVENS SCHOOL

322 Orchard Street Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education
761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code	
1ay 2024	0	06/07/2024	06/07/2024	06/21/2024	Original	
School Nutritio	n Program Gene	ral Information				
61. Total Number	r of Children Approve	ed for Free Meals:		93		
32. Total Number	r of Children Approve	ed for Reduced Price	e Meals:	27		
33. Attendance F	actor Percentage:			93.3		
National Schoo	l Lunch Program					
L1. Number of E	nrolled Children:			418		
L2. Number Oper	rating Days:			22		
L3. Reimbursable	Lunches Served					
a. Free Lunch	nes Served:			1,203		
b. Reduced P	rice Lunches Served	:		358		
c. Paid Lunch	es Served:		2,532			
d. Total Lunc	hes Served (a + b +	4,093				
School Breakfa	st Program (Reg	ular Reimburser	nent)			
31. Number of Er	nrolled Children:			418		
32. Number Oper	rating Days:			22		
33. Reimbursable	Breakfasts Served					
a. Free Break	fasts Served:			718		
b. Reduced P	rice Breakfasts Serve	ed:		229		
c. Paid Break	fasts Served:			1,840		
d. Total Brea	kfasts Served (a + b	+ c):		2,787		

Created By: JWhite on: 6/6/2024 4:15:05 PM Modified By: JWhite on: 6/6/2024 4:18:18 PM

11900 Status: Active

Rocky Hill School District

05 Status: Active **WEST HILL SCHOOL**

95 Cronin Street Rocky Hill, CT 06067

DBA: Rocky Hill Board of Education 761 Old Main Street

Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code		
May 2024	0	06/07/2024	06/07/2024	06/21/2024	Original		
School Nutritio	on Program Gener	ral Information					
G1. Total Numbe	r of Children Approve	ed for Free Meals:		53			
G2. Total Numbe	r of Children Approve	ed for Reduced Price	e Meals:	8			
G3. Attendance F	Factor Percentage:			94.0			
National Schoo	ol Lunch Program			 			
L1. Number of E	nrolled Children:			410			
L2. Number Ope	rating Days:			22			
L3. Reimbursable	Lunches Served						
a. Free Lunci	hes Served:			821			
b. Reduced P	Price Lunches Served	:	106				
c. Paid Lunch	nes Served:						
d. Total Lunc	d. Total Lunches Served (a + b + c):			3,378			
School Breakfa	st Program (Reg	ular Reimburser	ment)		_		
B1. Number of E	nrolled Children:			410			
B2. Number Ope	rating Days:			22			
B3. Reimbursable	Breakfasts Served						
a. Free Breal	kfasts Served:			620			
b. Reduced P	Price Breakfasts Serve	ed:		65			
c. Paid Break	fasts Served:			3,262			
d. Total Brea	kfasts Served (a + b	+ c):		3,947			

Created By: JWhite on: 6/6/2024 4:18:56 PM Modified By: JWhite on: 6/6/2024 4:20:21 PM

SNP Claim For Reimbursement Summary

Rocky Hill School District

11900 Status: Active

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution Type of SNP Organization: Public

Confirmation #: GA3HAB

Month/Year	Adjustment	Date	Date	Date	Reason	
Claimed	Number	Received	Accepted	Processed	Code	
Jun 2024	0	07/11/2024	07/11/2024	07/25/2024	Original	

Sponsor Totals

Meal Type	Meals/Supplements Served	Federal Rate	Reimbursement Federal Amount
National School Lunch Program			
Free	2,678	4.2500	11,381.50
Reduced	609	3.8500	2,344.65
Paid	6,868	0.4000	2,747.20
Total	10,155		16,473.35
Performance-Based Reimbursement (Lunch)			
Claimed	10,155	0.0800	812.40
Adjusted	0	0.0800	0.00
Total	10,155		812.40
School Breakfast Program			
Free	1,383	2.2800	3,153.24
Reduced	301	1.9800	595.98
Paid	4,529	0.3800	1,721.02
Total	6,213		5,470.24
Claim Reimbursement Total			22,755.99

Sponsor Claim Reimbursement Totals		
Current Claim Reimbursement Total	22,755.99	
Previous Claim Reimbursement Total	0.00	
Net Claim Reimbursement Total	22,755.99	

Show Site Meal Details

11900 Status: Active

61 Status: Active

ROCKY HILL HIGH SCHOOL

50 Chapin Ave Rocky Hill, CT 06067

Rocky Hill School District

DBA:

Rocky Hill Board of Education
761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code		
Jun 2024	0	07/11/2024	07/11/2024	07/25/2024	Original		
School Nutrition	n Program Gener	al Information					
G1. Total Number	of Children Approve	d for Free Meals:		149			
G2. Total Number	of Children Approve	d for Reduced Price	e Meals:	28			
G3. Attendance Fa	ctor Percentage:			94.4			
National School	Lunch Program		_				
L1. Number of En	rolled Children:			716			
L2. Number Opera	ating Days:			10			
L3. Reimbursable	Lunches Served						
a. Free Lunch	es Served:			527			
b. Reduced Pr	ice Lunches Served:		112				
c. Paid Lunche	es Served:		1,285				
d. Total Lunch	es Served (a + b +	c):		1,924			
School Breakfas	st Program (Reg	ular Reimbursen	nent)				
B1. Number of En	rolled Children:			716			
B2. Number Opera	ating Days:			10			
B3. Reimbursable	Breakfasts Served						
a. Free Breakt	asts Served:			389			
b. Reduced Pr	ice Breakfasts Serve	ed:		66			
c. Paid Breakf	asts Served:			1,035			
d. Total Break	fasts Served (a + b	+ c):		1,490			

11900

Status: Active

Rocky Hill School District

Status: Active

ALBERT D. GRISWOLD MIDDLE SCHOOL

144 Bailey Road Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street

Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Jun 2024	0	07/11/2024	07/11/2024	07/25/2024	Original
School Nutritic	on Program Gener	al Information			
G1. Total Numbe	r of Children Approve	d for Free Meals:		126	
G2. Total Numbe	r of Children Approve	d for Reduced Price	e Meals:	24	
G3. Attendance F	Factor Percentage:			96.0	
	ol Lunch Program				
				625	
L2. Number Ope	nrolled Children:			625 10	
·					
·	rating Days: Lunches Served				
L3. Reimbursable a. Free Lunc	rating Days: Lunches Served			10	
L3. Reimbursable a. Free Lunc	rating Days: e Lunches Served hes Served: Price Lunches Served:			10 894	

Created By: LXenophontos on: 7/10/2024 3:48:04 PM Modified By: LXenophontos on: 7/10/2024 4:06:36 PM

11900

Status: Active

Rocky Hill School District

02 Status: Active **MOSER SCHOOL** 10 School Street Rocky Hill, CT 06067

DBA: Rocky Hill Board of Education 761 Old Main Street

Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Jun 2024	0	07/11/2024	07/11/2024	07/25/2024	Original
School Nutritio	on Program Gene	ral Information			
G1. Total Numbe	r of Children Approve	ed for Free Meals:		72	
G2. Total Numbe	r of Children Approve	ed for Reduced Price	e Meals:	17	
G3. Attendance F	Factor Percentage:			96.0	
National Schoo	ol Lunch Program				
L1. Number of E	nrolled Children:			386	
L2. Number Ope	rating Days:			10	
L3. Reimbursable	E Lunches Served				
a. Free Lunc	hes Served:			356	
b. Reduced F	Price Lunches Served	:		116	
c. Paid Lunch	nes Served:			1,034	
d. Total Lunc	d. Total Lunches Served (a $+$ b $+$ c):			1,506	
School Breakfa	est Program (Reg	ular Reimburser	ment)		
B1. Number of E	nrolled Children:			386	
B2. Number Ope	rating Days:			10	
B3. Reimbursable	Breakfasts Served				
a. Free Breal	kfasts Served:			340	
b. Reduced F	Price Breakfasts Serv	ed:		106	
c. Paid Break	rfasts Served:			1,130	
d. Total Brea	kfasts Served (a + b	+ c):		1,576	

Created By: LXenophontos on: 7/10/2024 3:38:05 PM Modified By: LXenophontos on: 7/10/2024 3:40:01 PM

11900 Sta

Status: Active

Rocky Hill School District

04 Status: Active

MYRTLE H. STEVENS SCHOOL

322 Orchard Street Rocky Hill, CT 06067

DBA:
Rocky Hill Board of Education
761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Jun 2024	0	07/11/2024	07/11/2024	07/25/2024	Original
School Nutritio	n Program Genei	al Information			
G1. Total Number	of Children Approve	ed for Free Meals:		93	
G2. Total Number	of Children Approve	d for Reduced Price	e Meals:	27	
G3. Attendance F	actor Percentage:			93.3	
National Schoo	l Lunch Program				
L1. Number of Er	nrolled Children:			418	
L2. Number Oper	ating Days:			10	
L3. Reimbursable	Lunches Served				
a. Free Lunch	nes Served:			548	
b. Reduced P	rice Lunches Served:	:		166	
c. Paid Lunch	es Served:			1,213	
d. Total Lunch	hes Served (a + b +	c):		1,927	
School Breakfa	st Program (Reg	ular Reimbursen	ment)		
B1. Number of Er	nrolled Children:			418	
B2. Number Oper	rating Days:			10	
B3. Reimbursable	Breakfasts Served				
a. Free Break	fasts Served:			349	
b. Reduced P	rice Breakfasts Serve	ed:		98	
c. Paid Break	fasts Served:			841	
d. Total Break	kfasts Served (a + b	+ c):		1,288	

11900

Status: Active

Rocky Hill School District

05 Status: Active WEST HILL SCHOOL

95 Cronin Street Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year Claimed	Adjustment Number	Date Received	Date Accepted	Date Processed	Reason Code
Jun 2024 0 07/11/2024		07/11/2024	07/11/2024	07/25/2024	Original
School Nutritio	on Program Genei	al Information			
G1. Total Numbe	r of Children Approve	d for Free Meals:		53	
G2. Total Numbe	r of Children Approve	d for Reduced Price	e Meals:	8	
G3. Attendance F	actor Percentage:			94.0	
National Schoo	ol Lunch Program				
L1. Number of E	nrolled Children:			408	
L2. Number Ope	rating Days:			10	
L3. Reimbursable	Lunches Served				
a. Free Luncl	hes Served:			353	
b. Reduced P	Price Lunches Served:	:		49	
c. Paid Lunch	nes Served:			1,110	
d. Total Lunc	hes Served (a + b +	c):		1,512	
School Breakfa	st Program (Reg	ular Reimburser	тепт)		
B1. Number of E	nrolled Children:			408	
B2. Number Ope	rating Days:			10	
B3. Reimbursable	Breakfasts Served				
a. Free Breal	kfasts Served:			305	
b. Reduced P	Price Breakfasts Serve	ed:		31	
c. Paid Break	sfasts Served:			1,523	
d. Total Brea	kfasts Served (a + b	+ c):		1,859	

SNP Claim For Reimbursement Summary

Rocky Hill School District

11900 Status: Active

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution Type of SNP Organization: Public

Confirmation #: CGTHK8

Month/Year	Adjustment	Date	Date	Date	Reason	
Claimed	Number	Received	Accepted	Processed	Code	
Jul 2024	0	08/08/2024	08/08/2024	08/27/2024	Original	

Sponsor Totals

Meal Type	Meals/Supplements Served	Federal Rate	Reimbursement Federal Amount
National School Lunch Program			
Free	249	4.4300	1,103.07
Reduced	62	4.0300	249.86
Paid	292	0.4200	122.64
Total	603		1,475.57
Performance-Based Reimbursement (Lunch)			
Claimed	603	0.0900	54.27
Adjusted	0	0.0900	0.00
Total	603		54.27

Sponsor Claim Reimbursement Totals	
Current Claim Reimbursement Total	1,529.84
Previous Claim Reimbursement Total	0.00
Net Claim Reimbursement Total	1,529.84

1,529.84

Show Site Meal Details

Claim Reimbursement Total

11900 Status: Active

Rocky Hill School District

05 Status: Active **WEST HILL SCHOOL**

95 Cronin Drive Rocky Hill, CT Rocky Hill, CT 06067

DBA:
Rocky Hill Board of Education
761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Jul 2024	0	08/08/2024	08/08/2024	08/27/2024	Original

Jul 2	2024	0	08/08/2024	08/08/2024	08/27/2024	Original
Sch	ool Nutrition	Program Gen	eral Information			
G1.	Total Number o	f Children Appro	ved for Free Meals:		53	
G2.	Total Number o	f Children Appro	ved for Reduced Price	Meals:	8	
G3.	Attendance Fac	tor Percentage:			94.0	
Nat	ional School I	Lunch Program	n			
L1.	Number of Enro	olled Children:			401	
L2.	Number Operat	ing Days:			15	
L3.	Reimbursable Lu	unches Served				
	a. Free Lunches	Served:			249	
	b. Reduced Pric	e Lunches Serve	d:		62	
	c. Paid Lunches	Served:			292	
	d. Total Lunche	s Served (a + b	+ c):		603	

Created By: LXenophontos on: 8/8/2024 10:34:59 AM Modified By: LXenophontos on: 8/8/2024 10:37:03 AM

SNP Claim For Reimbursement Summary

Rocky Hill School District 11900 Status: Active

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution Type of SNP Organization: Public

Confirmation #: EGFBRG

Month/Year	Adjustment	Date	Date	Date	Reason	
Claimed	Number	Received	Accepted	Processed	Code	
Sep 2024	0	10/10/2024	10/10/2024	10/28/2024	Original	

Sponsor Totals

Meal Type	Meals/Supplements Served	Federal Rate	Reimbursement Federal Amount
National School Lunch Program			
Free	6,733	4.4300	29,827.19
Reduced	1,992	4.0300	8,027.76
Paid	14,899	0.4200	6,257.58
Total	23,624		44,112.53
Performance-Based Reimbursement (Lunch))		
Claimed	23,624	0.0900	2,126.16
Adjusted	0	0.0900	0.00
Total	23,624		2,126.16
School Breakfast Program	_		
Free	2,757	2.3700	6,534.09
Reduced	558	2.0700	1,155.06
Paid	4,510	0.3900	1,758.90
Total	7,825		9,448.05

Claim Reimbursement Total	55,686.74
---------------------------	-----------

Sponsor Claim Reimbursement Totals	
Current Claim Reimbursement Total	55,686.74
Previous Claim Reimbursement Total	0.00
Net Claim Reimbursement Total	55,686.74

Show Site Meal Details

11900 Status: Active

Rocky Hill School District

61 Status: Active
ROCKY HILL HIGH SCHOOL

50 Chapin Ave Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Sep 2024	0	10/10/2024	10/10/2024	10/28/2024	Original

Jeh	7 2027	10/10/2024	10/10/2024	10/20/2024	Original
Sch	nool Nutrition Program Genera	I Information			
G1.	Total Number of Children Approved	for Free Meals:		163	
G2.	Total Number of Children Approved	for Reduced Price N	1eals:	45	
G3.	Attendance Factor Percentage:			94.4	
Na	tional School Lunch Program				
L1.	Number of Enrolled Children:			757	
L2.	Number Operating Days:			22	
L3.	Reimbursable Lunches Served				
	a. Free Lunches Served:			2,381	
	b. Reduced Price Lunches Served:			683	
	c. Paid Lunches Served:			5,353	
	d. Total Lunches Served (a + b + c):		8,417	
Scł	nool Breakfast Program (Regu	lar Reimburseme	ent)		
B1.	Number of Enrolled Children:			757	
B2.	Number Operating Days:			22	
B3.	Reimbursable Breakfasts Served				
	a. Free Breakfasts Served:			1,084	
	b. Reduced Price Breakfasts Served	i:		233	
	c. Paid Breakfasts Served:			1,681	
	d. Total Breakfasts Served (a + b -	- c):		2,998	

Created By: LXenophontos on: 10/10/2024 10:30:43 AM Modified By: LXenophontos on: 10/10/2024 10:32:04 AM

11900 Status: Active

Rocky Hill School District

Status: Active

ALBERT D. GRISWOLD MIDDLE SCHOOL

144 Bailey Road Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street

Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason	
Claimed	Number	Received	Accepted	Processed	Code	
Sep 2024	0	10/10/2024	10/10/2024	10/28/2024	Original	

Sep 202	24	0	10/10/2024	10/10/2024	10/28/2024	Original
School	l Nutrition Progra	am Genera	al Information	<u></u>		
G1. Tot	tal Number of Childr	en Approved	l for Free Meals:		121	
G2. Tot	tal Number of Childr	en Approved	I for Reduced Price	Meals:	35	
G3. Att	tendance Factor Perd	entage:			96.0	
Nation	nal School Lunch	Program				
L1. Nu	ımber of Enrolled Ch	ildren:			633	
L2. Nu	ımber Operating Day	/s:			22	
L3. Rei	imbursable Lunches	Served				
a.	a. Free Lunches Served:				1,729	
b. 1	Reduced Price Lunch	nes Served:			615	
c. I	Paid Lunches Served	i:			4,163	
d. ·	Total Lunches Serve	d (a + b + d	:):		6,507	

Created By: LXenophontos on: 10/10/2024 10:29:18 AM Modified By: LXenophontos on: 10/10/2024 10:30:16 AM

11900 Status: Active

Rocky Hill School District

02 Status: Active MOSER SCHOOL 10 School Street Rocky Hill, CT Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Sep 2024	0	10/10/2024	10/10/2024	10/28/2024	Original

Sep 2024	0	10/10/2024	10/10/2024	10/28/2024	Original
School Nutritio	n Program General	Information			
G1. Total Number	of Children Approved f	or Free Meals:		56	
G2. Total Number	of Children Approved f	or Reduced Price	Meals:	24	
G3. Attendance Fa	actor Percentage:			96.0	
National Schoo	l Lunch Program	·			
L1. Number of En	rolled Children:			379	
L2. Number Oper	ating Days:			22	
L3. Reimbursable	Lunches Served				
a. Free Lunch	es Served:			780	
b. Reduced Pi	rice Lunches Served:			289	
c. Paid Lunch	es Served:			2,044	
d. Total Lunch	nes Served ($a + b + c$):			3,113	
School Breakfa	st Program (Regula	r Reimbursen	nent)		
B1. Number of En	rolled Children:			379	
B2. Number Oper	ating Days:			22	
B3. Reimbursable	Breakfasts Served				
a. Free Break	fasts Served:			451	
b. Reduced Pr	rice Breakfasts Served:			115	
c. Paid Breakt	fasts Served:			826	
d. Total Break	fasts Served (a + b + c	c):		1,392	

Created By: LXenophontos on: 10/10/2024 10:22:20 AM Modified By: LXenophontos on: 10/10/2024 10:25:57 AM

11900

Status: Active **Rocky Hill School District** Status: Active

MYRTLE H. STEVENS SCHOOL

Rocky Hill Board of Education 761 Old Main Street

Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

322 Orchard Street Rocky Hill, CT Rocky Hill, CT 06067

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Sep 2024	0	10/10/2024	10/10/2024	10/28/2024	Original

Sch	ool Nutrition Program General Information		
G1.	Total Number of Children Approved for Free Meals:	98	
G2.	Total Number of Children Approved for Reduced Price Meals:	26	
3 3.	Attendance Factor Percentage:	93.3	
Nat	ional School Lunch Program		
.1.	Number of Enrolled Children:	405	
L2.	Number Operating Days:	22	
_3.	Reimbursable Lunches Served		
	a. Free Lunches Served:	1,175	
	b. Reduced Price Lunches Served:	231	
	c. Paid Lunches Served:	1,816	
	d. Total Lunches Served (a + b + c):	3,222	
Sch	ool Breakfast Program (Regular Reimbursement)		
31.	Number of Enrolled Children:	405	
32.	Number Operating Days:	21	
33.	Reimbursable Breakfasts Served		
	a. Free Breakfasts Served:	752	
	b. Reduced Price Breakfasts Served:	121	
	c. Paid Breakfasts Served:	1,143	
	d. Total Breakfasts Served (a + b + c):	2,016	

Created By: LXenophontos on: 10/10/2024 10:26:09 AM Modified By: LXenophontos on: 10/10/2024 10:27:56 AM

11900 Status: Active

Rocky Hill School District

Status: Active **WEST HILL SCHOOL**

95 Cronin Drive Rocky Hill, CT Rocky Hill, CT 06067

DBA: Rocky Hill Board of Education 761 Old Main Street

Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Sep 2024	0	10/10/2024	10/10/2024	10/28/2024	Original

Sep	2024	0	10/10/2024	10/10/2024	10/28/2024	Original
Sch	ool Nutrition Pr	ogram Gen	eral Information			
G1.	Total Number of C	hildren Appro	ved for Free Meals:		61	
G2.	Total Number of C	hildren Appro	ved for Reduced Price	Meals:	14	
G3.	Attendance Factor	Percentage:			94.0	
Nat	ional School Lu	nch Progra	<u>m</u>		-	
L1.	Number of Enrolle	d Children:			400	
L2.	Number Operating	Days:			22	
L3.	Reimbursable Lund	ches Served				
	a. Free Lunches S	erved:			668	
	b. Reduced Price L	unches Serve	ed:		174	
	c. Paid Lunches Se	erved:			1,523	
	d. Total Lunches S	erved (a + b	+ c):		2,365	
Sch	ool Breakfast P	rogram (Re	gular Reimbursen	nent)		
В1.	Number of Enrolle	d Children:			400	
B2.	Number Operating	Days:			21	
В3.	Reimbursable Brea	skfasts Served	i			
	a. Free Breakfasts	Served:			470	
	b. Reduced Price E	Breakfasts Sei	ved:		89	
	c. Paid Breakfasts	Served:			860	
	d. Total Breakfasts	s Served (a +	b + c):		1,419	

Created By: LXenophontos on: 10/10/2024 10:28:03 AM Modified By: LXenophontos on: 10/10/2024 10:29:06 AM

SNP Claim For Reimbursement Summary

Rocky Hill School District

11900 DBA: Status: Active

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution Type of SNP Organization: Public

Confirmation #: CGNFGA

Month/Year	Adjustment	Date	Date	Date	Reason	
Claimed	Number	Received	Accepted	Processed	Code	
Oct 2024	0	11/14/2024	11/14/2024	11/21/2024	Original	

Sponsor Totals

Meal Type	Meals/Supplements Served	Federal Rate	Reimbursement Federal Amount
National School Lunch Program			
Free	6,832	4.4300	30,265.76
Reduced	1,813	4.0300	7,306.39
Paid	15,827	0.4200	6,647.34
Total	24,472	and deliberate the second of t	44,219.49
Performance-Based Reimbursement (Lunch)	1		
Claimed	24,472	0.0900	2,202.48
Adjusted	0	0.0900	0.00
Total	24,472		2,202.48
School Breakfast Program			
Free	3,450	2.3700	8,176.50
Reduced	644	2.0700	1,333.08
Paid	5,526	0.3900	2,155.14
Total	9,620	The state of the s	11,664.72

Claim Reimbursement Total	58,086.69
---------------------------	-----------

Sponsor Claim Reimbursement Totals	
Current Claim Reimbursement Total	58,086.69
Previous Claim Reimbursement Total	0.00
Net Claim Reimbursement Total	58,086.69

Show Site Meal Details

11900 Status: Active

Rocky Hill School District

Status: Active

ROCKY HILL HIGH SCHOOL

50 Chapin Ave Rocky Hill, CT 06067

DBA:
Rocky Hill Board of Education
761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Oct 2024	0	11/14/2024	11/14/2024	11/21/2024	Original

Oct 2024	0	11/14/2024	11/14/2024	11/21/2024	Original
School Nutritio	n Program General	Information			
G1. Total Number	r of Children Approved	for Free Meals:		168	
G2. Total Number	of Children Approved	for Reduced Price M	1eals:	43	
G3. Attendance F	actor Percentage:			94.4	
National Schoo	l Lunch Program				
L1. Number of E	nrolled Children:			776	
L2. Number Ope	rating Days:			21	
L3. Reimbursable	Lunches Served				
a. Free Lunch	nes Served:			2,281	
b. Reduced P	rice Lunches Served:			544	
c. Paid Lunch	es Served:			5,522	
d. Total Lunc	hes Served ($a + b + c$)	:		8,347	
School Breakfa	st Program (Regula	ar Reimburseme	ent)		
B1. Number of E	nrolled Children:			776	
B2. Number Ope	rating Days:			21	
B3. Reimbursable	Breakfasts Served				
a. Free Break	fasts Served:			1,239	
b. Reduced P	rice Breakfasts Served:			218	
c. Paid Break	fasts Served:			1,796	
d. Total Brea	kfasts Served (a + b +	c):		3,253	

Created By: LXenophontos on: 11/14/2024 3:36:32 PM Modified By: LXenophontos on: 11/14/2024 3:37:38 PM

11900 Status: Active

Rocky Hill School District

Status: Active

ALBERT D. GRISWOLD MIDDLE SCHOOL

144 Bailey Road Rocky Hill, CT 06067

DBA:
Rocky Hill Board of Education
761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Oct 2024	0	11/14/2024	11/14/2024	11/21/2024	Original

Oct 2024	<u> </u>	11/14/2024	11/14/2024	11/21/2024	Original
School Nutritio	n Program General	Information			
G1. Total Number	of Children Approved for	or Free Meals:		120	
G2. Total Number	of Children Approved fo	or Reduced Price	e Meals:	32	
G3. Attendance F	actor Percentage:			96.0	
National Schoo	l Lunch Program				
L1. Number of Er	rolled Children:			634	
L2. Number Oper	ating Days:			21	
L3. Reimbursable	Lunches Served				
a. Free Lunch	es Served:			1,824	
b. Reduced P	rice Lunches Served:			557	
c. Paid Lunch	es Served:			4,446	
d. Total Lunci	nes Served ($a + b + c$):			6,827	
School Breakfa	st Program (Regula	r Reimburser	ment)		
B1. Number of Er	rolled Children:			634	
B2. Number Oper	ating Days:			16	
B3. Reimbursable	Breakfasts Served				
a. Free Break	fasts Served:			190	
b. Reduced P	rice Breakfasts Served:			41	
c. Paid Break	fasts Served:			210	
d. Total Break	xfasts Served (a + b + c):		441	

Created By: LXenophontos on: 11/14/2024 3:37:51 PM Modified By: LXenophontos on: 11/14/2024 3:39:22 PM

11900 Status: Active

Rocky Hill School District

02 Status: Active MOSER SCHOOL 10 School Street Rocky Hill, CT Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627 Type of Agency: Educational Ins

Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Oct 2024	0	11/14/2024	11/14/2024	11/21/2024	Original

Oct 2024	0	11/14/2024	11/14/2024	11/21/2024	Original
School Nutritio	n Program General	Information			
G1. Total Number	of Children Approved for	or Free Meals:		56	
G2. Total Number	of Children Approved fo	or Reduced Price	Meals:	24	
G3. Attendance F	actor Percentage:			96.0	
National Schoo	l Lunch Program				
L1. Number of Er	nrolled Children:			384	
L2. Number Oper	rating Days:			21	
L3. Reimbursable	Lunches Served				
a. Free Lunch	nes Served:			761	
b. Reduced P	rice Lunches Served:			294	
c. Paid Lunch	es Served:			2,364	
d. Total Lunci	hes Served ($a + b + c$):			3,419	
School Breakfa	st Program (Regula	r Reimbursen	nent)		
B1. Number of Er	nrolled Children:			384	
B2. Number Oper	rating Days:			21	
B3. Reimbursable	Breakfasts Served				
a. Free Break	fasts Served:			550	
b. Reduced P	rice Breakfasts Served:			168	
c. Paid Break	fasts Served:			1,156	
d. Total Breal	kfasts Served (a + b + c	:):		1,874	

Created By: LXenophontos on: 11/14/2024 3:42:34 PM Modified By: LXenophontos on: 11/14/2024 3:43:25 PM

11900 Status: Active

Rocky Hill School District

04 Status: Active
MYRTLE H. STEVENS SCHOOL

322 Orchard Street Rocky Hill, CT

Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Oct 2024	n	11/14/2024	11/14/2024	11/21/2024	Original

Cidiffica	Number	- ICCCIVCG	Accepted		
Oct 2024	0	11/14/2024	11/14/2024	11/21/2024	Original
School Nutritio	on Program Gene	ral Information			
G1. Total Numbe	r of Children Approv	ed for Free Meals:		97	
G2. Total Numbe	r of Children Approv	ed for Reduced Price	e Meals:	27	
G3. Attendance F	Factor Percentage:			93.3	
National Schoo	ol Lunch Program)			
L1. Number of E	nrolled Children:			406	
L2. Number Ope	rating Days:			21	
L3. Reimbursable	Lunches Served				
a. Free Luncl	hes Served:			1,257	
b. Reduced P	Price Lunches Served	l:		260	
c. Paid Lunch	nes Served:			1,903	
d. Total Lunc	hes Served (a + b +	- c):		3,420	
School Breakfa	st Program (Reg	jular Reimbursei	ment)		
B1. Number of E	nrolled Children:			406	
B2. Number Ope	rating Days:			21	
B3. Reimbursable	Breakfasts Served				
a. Free Breal	kfasts Served:			845	
b. Reduced P	Price Breakfasts Serv	red:		148	
c. Paid Break	fasts Served:			1,206	
d. Total Brea	kfasts Served (a + t	o + c):		2,199	

Created By: LXenophontos on: 11/14/2024 3:40:37 PM Modified By: LXenophontos on: 11/14/2024 3:42:28 PM

11900 Status: Active

05 Status: Active WEST HILL SCHOOL

Rocky Hill School District

95 Cronin Drive Rocky Hill, CT Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Oct 2024	0	11/14/2024	11/14/2024	11/21/2024	Original

Oct 2024	0	11/14/2024	11/14/2024	11/21/2024	Original
School Nutritio	on Program General	Information			
G1. Total Numbe	er of Children Approved f	or Free Meals:		61	
G2. Total Numbe	er of Children Approved f	or Reduced Price	Meals:	15	
G3. Attendance	Factor Percentage:			94.0	
National School	ol Lunch Program				
L1. Number of E	inrolled Children:			403	
L2. Number Ope	erating Days:			21	
L3. Reimbursabl	e Lunches Served				
a. Free Lunc	hes Served:			709	
b. Reduced I	Price Lunches Served:			158	
c. Paid Lunc	hes Served:			1,592	
d. Total Lund	ches Served ($a + b + c$):			2,459	
School Breakfa	ast Program (Regula	r Reimbursen	nent)		
B1. Number of E	Enrolled Children:			403	
B2. Number Ope	erating Days:			21	
B3. Reimbursabl	e Breakfasts Served				
a. Free Brea	kfasts Served:			626	
b. Reduced I	Price Breakfasts Served:			69	
c. Paid Breal	kfasts Served:			1,158	
d. Total Brea	akfasts Served (a + b +	c):		1,853	

Created By: LXenophontos on: 11/14/2024 3:39:31 PM Modified By: LXenophontos on: 11/14/2024 3:40:29 PM

SNP Claim For Reimbursement Summary

Rocky Hill School District

11900 Status: Active

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution
Type of SNP Organization: Public

Confirmation #: DAOAAW

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Nov 2024	0	12/13/2024	12/13/2024	12/19/2024	Original

Sponsor Totals

Meal Type	Meals/Supplements Served	Federal Rate	Reimbursement Federal Amount
National School Lunch Program		TANDESCOND AND AND AND AND AND AND AND AND AND A	
Free	5,018	4.4300	22,229.74
Reduced	1,360	4.0300	5,480.80
Paid	12,319	0.4200	5,173.98
Total	18,697		32,884.52
Performance-Based Reimbursement (Lunch)			
Claimed	18,697	0.0900	1,682.73
Adjusted	0	0.0900	0.00
Total	18,697		1,682.73
School Breakfast Program			
Free	2,848	2.3700	6,749.76
Reduced	501	2.0700	1,037.07
Paid '	4,470	0.3900	1,743.30
Total	7,819		9,530.13
Claim Reimbursement Total			44,097.38

Sponsor Claim Reimbursement Totals	
Current Claim Reimbursement Total	44,097.38
Previous Claim Reimbursement Total	0.00
Net Claim Reimbursement Total	44,097.38

Show Site Meal Details

11900 Status: Active

Rocky Hill School District

61 Status: Active

ROCKY HILL HIGH SCHOOL

2,650

50 Chapin Ave Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education
761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Nov 2024	0	12/13/2024	12/13/2024	12/19/2024	Original

Nov	2024	0	12/13/2024	12/13/2024	12/19/2024	Original		
٠.								
Sch	ool Nutritio	n Program Gene	eral Information					
G1.	Total Number	r of Children Approv	ved for Free Meals:		159			
G2.	Total Number	r of Children Approv	ed for Reduced Price	e Meals:	37			
G3.	Attendance F	actor Percentage:			94.4			
Nat	ional Schoo	l Lunch Progran	1					
L1.	Number of E	nrolled Children:			761			
L2.	Number Ope	rating Days:			16			
L3.	Reimbursable	Lunches Served						
	a. Free Lunch	nes Served:			1,692			
	b. Reduced P	rice Lunches Serve	d:	417				
	c. Paid Lunch	es Served:		4,299				
	d. Total Lunc	hes Served (a + b ·	+ c):		6,408			
Sch	ool Breakfa	st Program (Re	gular Reimburser	ment)				
B1.	Number of E	nrolled Children:			761			
B2.	Number Oper	rating Days:			16			
вз.	Reimbursable	Breakfasts Served						
	a. Free Break	rfasts Served:			1,017			
	b. Reduced P	rice Breakfasts Ser	ved:		178			
	c. Paid Break	fasts Served:			1,455			

Created By: LXenophontos on: 12/13/2024 11:31:28 AM Modified By: LXenophontos on: 12/13/2024 11:32:55 AM

d. Total Breakfasts Served (a + b + c):

11900

Status: Active **Rocky Hill School District** Status: Active

ALBERT D. GRISWOLD MIDDLE SCHOOL

144 Bailey Road Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Nov 2024	0	12/13/2024	12/13/2024	12/19/2024	Original

Nov	2024	0	12/13/2024	12/13/2024	12/19/2024	Original
Sch	ool Nutrition Pro	gram General	Information			
G1.	Total Number of Ch	ildren Approved i	or Free Meals:		107	
G2.	Total Number of Chi	ildren Approved (or Reduced Price	Meals:	30	
G3.	Attendance Factor F	Percentage:			96.0	
Nat	ional School Lun	ch Program				
L1.	Number of Enrolled	Children:			619	
L2.	Number Operating I	Days:			16	
L3.	Reimbursable Lunch	es Served				
	a. Free Lunches Ser	ved:			1,291	
	b. Reduced Price Lu	nches Served:			416	
	c. Paid Lunches Ser	ved:			3,403	
	d. Total Lunches Se	rved (a + b + c)	:		5,110	
Sch	ool Breakfast Pro	ogram (Regula	ır Reimbursen	nent)		
B1.	Number of Enrolled	Children:			619	
B2.	Number Operating I	Days:			16	
вз.	Reimbursable Break	fasts Served				
	a. Free Breakfasts S	Served:			273	
	b. Reduced Price Br	eakfasts Served:			63	
	c. Paid Breakfasts S	Served:			315	
	d. Total Breakfasts	Served (a + b +	c):		651	

Created By: LXenophontos on: 12/13/2024 11:33:02 AM Modified By: LXenophontos on: 12/13/2024 11:42:28 AM

11900 Status: Active

Rocky Hill School District

Status: Active **MOSER SCHOOL** 10 School Street Rocky Hill, CT Rocky Hill, CT 06067

DBA:
Rocky Hill Board of Education
761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Nov 2024	0	12/13/2024	12/13/2024	12/19/2024	Original

Nov	2024	0	12/13/2024	12/13/2024	12/19/2024	Original
Scho	ool Nutritio	n Program Gene	eral Information			
		-	ved for Free Meals:	.·	48	
		• •	ved for Reduced Price	o Moale:	20	
			ved for Reduced File	e Medis.		
63.	Attendance Fa	actor Percentage:			96.0	
Nati	onal Schoo	l Lunch Progran	n			
L1.	Number of En	rolled Children:			372	
L2.	Number Oper	ating Days:			16	
L3.	Reimbursable	Lunches Served				
	a. Free Lunch	es Served:			551	
	b. Reduced Pr	rice Lunches Serve	d:		222	
	c. Paid Lunche	es Served:			1,792	
	d. Total Lunch	nes Served (a + b	+ c):		2,565	
Scho	ool Breakfa:	st Program (Re	gular Reimbursei	ment)		
B1.	Number of En	rolled Children:			372	
B2.	Number Oper	ating Days:			16	
B3. I	Reimbursable	Breakfasts Served				
	a. Free Break	fasts Served:			431	
	b. Reduced Pr	rice Breakfasts Ser	ved:		137	
	c. Paid Breakf	fasts Served:			956	
	d. Total Break	fasts Served (a +	b + c):		1,524	

Created By: LXenophontos on: 12/13/2024 11:42:40 AM Modified By: LXenophontos on: 12/13/2024 11:43:50 AM

11900 Status: Active

Rocky Hill School District

04 Status: Active

MYRTLE H. STEVENS SCHOOL

322 Orchard Street Rocky Hill, CT Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Nov 2024	0	12/13/2024	12/13/2024	12/19/2024	Original

Nov 2024	0	12/13/2024	12/13/2024	12/19/2024	Original
School Nutritio	n Program General	Information			
G1. Total Number	of Children Approved f	or Free Meals:	•	100	
G2. Total Number	of Children Approved f	or Reduced Price N	4eals:	23	
G3. Attendance Fa	actor Percentage:			93.3	
National Schoo	Lunch Program		_		
L1. Number of Er	rolled Children:			407	
L2. Number Oper	ating Days:			16	
L3. Reimbursable	Lunches Served				
a. Free Lunch	es Served:			963	
b. Reduced P	rice Lunches Served:			198	
c. Paid Lunch	es Served:			1,486	
d. Total Lunch	nes Served (a + b + c):			2,647	
School Breakfa	st Program (Regula	ır Reimburseme	ent)		
B1. Number of Er	rolled Children:			407	
B2. Number Oper	ating Days:			16	
B3. Reimbursable	Breakfasts Served				
a. Free Break	fasts Served:			703	
b. Reduced P	rice Breakfasts Served:			87	
c. Paid Break	fasts Served:			938	
d. Total Break	fasts Served (a + b +	c):		1,728	

Created By: LXenophontos on: 12/13/2024 11:43:58 AM Modified By: LXenophontos on: 12/13/2024 11:44:50 AM

11900 Status: Active

05 Status: Active WEST HILL SCHOOL

Rocky Hill School District

95 Cronin Drive Rocky Hill, CT Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education
761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Inc.

Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Nov 2024	0	12/13/2024	12/13/2024	12/19/2024	Original

Nov 2024	0	12/13/2024	12/13/2024	12/19/2024	Original
School Nutritio	on Program General	Information			
G1. Total Numbe	r of Children Approved (or Free Meals:		59	
G2. Total Numbe	r of Children Approved (or Reduced Price	e Meals:	12	
G3. Attendance F	actor Percentage:			94.0	
National School	ol Lunch Program				
L1. Number of E	nrolled Children:			398	
L2. Number Ope	rating Days:			16	
L3. Reimbursable	Lunches Served				
a. Free Luncl	hes Served:			521	
b. Reduced P	Price Lunches Served:			107	
c. Paid Lunch	nes Served:			1,339	
d. Total Lunc	hes Served ($a + b + c$)	:		1,967	
School Breakfa	st Program (Regula	ar Reimbursei	ment)		
B1. Number of E	nrolled Children:			398	
B2. Number Ope	rating Days:			16	
B3. Reimbursable	Breakfasts Served				
a. Free Breal	kfasts Served:			424	
b. Reduced P	Price Breakfasts Served:			36	
c. Paid Break	fasts Served:			806	
d. Total Brea	kfasts Served (a + b +	c):		1,266	

Created By: LXenophontos on: 12/13/2024 11:44:59 AM Modified By: LXenophontos on: 12/13/2024 11:46:23 AM

SNP Claim For Reimbursement Summary

Rocky Hill School District

11900 DBA: Status: Active

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution Type of SNP Organization: Public

Confirmation #: AFUJ3X

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Dec 2024	0	01/10/2025	01/10/2025	01/27/2025	Original

Sponsor Totals

Meal Type	Meals/Supplements Served	Federal Rate	Reimbursement Federal Amount
National School Lunch Program			
Free	4,069	4.4300	18,025.67
Reduced	1,045	4.0300	4,211.35
Paid	8,592	0.4200	3,608.64
Total	13,706		25,845.66
Performance-Based Reimbursement (Lui	nch)		
Claimed	13,706	0.0900	1,233.54
Adjusted	0	0.0900	0.00
Total	13,706		1,233.54
School Breakfast Program			
Free	2,297	2.3700	5,443.89
Reduced	396	2.0700	819.72
Paid	3,387	0.3900	1,320.93
Total	6,080		7,584.54

Claim Reimbursement Total	34,663.74
---------------------------	-----------

Sponsor Claim Reimbursement Totals	
Current Claim Reimbursement Total	34,663.74
Previous Claim Reimbursement Total	0.00
Net Claim Reimbursement Total	34,663.74

Show Site Meal Details

11900

Status: Active

Rocky Hill School District

Status: Active

ROCKY HILL HIGH SCHOOL

50 Chapin Ave Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street

Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Dec 2024	0	01/10/2025	01/10/2025	01/27/2025	Original

Dec 2024	0	01/10/2025	01/10/2025	01/27/2025	Original
School Nutritio	on Program General	Information			
G1. Total Numbe	r of Children Approved fo	or Free Meals:		159	
G2. Total Numbe	r of Children Approved fo	or Reduced Price	Meals:	38	
G3. Attendance F	Factor Percentage:			94.4	
National Schoo	ol Lunch Program				
L1. Number of E	nrolled Children:			759	
L2. Number Ope	rating Days:			15	
L3. Reimbursable	Lunches Served				
a. Free Luncl	hes Served:			928	
b. Reduced P	Price Lunches Served:			142	
c. Paid Lunch	nes Served:			1,167	
d. Total Lunc	thes Served ($a + b + c$):			2,237	
School Breakfa	ast Program (Regula	r Reimbursen	nent)		
B1. Number of E	nrolled Children:			759	
B2. Number Ope	rating Days:			15	
B3. Reimbursable	Breakfasts Served				
a. Free Breal	kfasts Served:			928	
b. Reduced F	Price Breakfasts Served:			142	
c. Paid Break	rfasts Served:			1,167	
d. Total Brea	kfasts Served (a + b + c	:):		2,237	

Created By: LXenophontos on: 1/10/2025 12:04:12 PM Modified By: LXenophontos on: 1/10/2025 12:04:59 PM

11900

Status: Active **Rocky Hill School District** 51 Status: Active

ALBERT D. GRISWOLD MIDDLE SCHOOL

144 Bailey Road Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education
761 Old Main Street
Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Dec 2024	0	01/10/2025	01/10/2025	01/27/2025	Original

Dec 2024	0	01/10/2025	01/10/2025	01/27/2025	Original
School Nutritio	n Program General	Information			
G1. Total Number	r of Children Approved fo	or Free Meals:		108	
G2. Total Number	r of Children Approved fo	or Reduced Price	e Meals:	31	
G3. Attendance F	actor Percentage:			96.0	
National School	l Lunch Program				
L1. Number of E	nrolled Children:			619	
L2. Number Ope	rating Days:			15	
L3. Reimbursable	Lunches Served				
a. Free Lunch	nes Served:			1,192	
b. Reduced P	rice Lunches Served:			385	
c. Paid Lunch	es Served:			3,133	
d. Total Lunc	hes Served ($a + b + c$):			4,710	
School Breakfa	st Program (Regula	r Reimburser	ment)		
B1. Number of E	nrolled Children:			619	
B2. Number Ope	rating Days:			13	
B3. Reimbursable	Breakfasts Served				
a. Free Break	rfasts Served:			241	
b. Reduced P	rice Breakfasts Served:			49	
c. Paid Break	fasts Served:			248	
d. Total Brea	kfasts Served (a + b + c	:):		538	

Created By: LXenophontos on: 1/10/2025 11:59:53 AM Modified By: LXenophontos on: 1/10/2025 12:02:02 PM

11900 Status: Active

Rocky Hill School District

Status: Active **MOSER SCHOOL** 10 School Street Rocky Hill, CT Rocky Hill, CT 06067

DBA: Rocky Hill Board of Education 761 Old Main Street

Rocky Hill, CT 06067-0627
Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Dec 2024	0	01/10/2025	01/10/2025	01/27/2025	Original

Dec 2024	0	01/10/2025	01/10/2025	01/27/2025	Original
School Nutrit	tion Program General	Information			
G1. Total Numl	ber of Children Approved f	or Free Meals:		49	
G2. Total Numi	ber of Children Approved f	or Reduced Price	Meals:	54	
G3. Attendance	e Factor Percentage:			96.0	
National Sch	ool Lunch Program				
L1. Number of	Enrolled Children:			373	
L2. Number O	perating Days:			15	
L3. Reimbursal	ble Lunches Served				
a. Free Lui	nches Served:			512	
b. Reduced	d Price Lunches Served:			207	
c. Paid Lun	iches Served:			1,524	
d. Total Lu	nches Served ($a + b + c$):			2,243	
School Break	fast Program (Regula	r Reimbursem	ent)		
B1. Number of	Enrolled Children:			373	
B2. Number O	perating Days:			14	
B3. Reimbursal	ble Breakfasts Served				
a. Free Bre	eakfasts Served:			371	
b. Reduced	d Price Breakfasts Served:			113	
c. Paid Bre	akfasts Served:			832	
d. Total Bro	eakfasts Served (a + b +	c):		1,316	

Created By: LXenophontos on: 1/10/2025 12:02:10 PM Modified By: LXenophontos on: 1/10/2025 12:04:04 PM

11900

Status: Active

Rocky Hill School District

04 Status: Active

MYRTLE H. STEVENS SCHOOL

322 Orchard Street Rocky Hill, CT Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Dec 2024	0	01/10/2025	01/10/2025	01/27/2025	Original

Dec 2024	0	01/10/2025	01/10/2025	01/27/2025	Original
School Nutritio	on Program Genera	al Information			
_	r of Children Approved		<u></u>	101	
	r of Children Approved		o Meale:	23	
	• •	Tor Reduced Trick	e Medis.	93.3	
G3. Attendance i	Factor Percentage:			93.3	
National School	ol Lunch Program				
L1. Number of E	nrolled Children:			405	
L2. Number Ope	rating Days:			15	
L3. Reimbursable	e Lunches Served				
a. Free Lunc	hes Served:			913	
b. Reduced F	Price Lunches Served:			202	
c. Paid Lunch	hes Served:			1,455	
d. Total Lunc	thes Served ($a + b + c$:):		2,570	
School Breakfa	ast Program (Regu	lar Reimbursei	ment)		
B1. Number of E	nrolled Children:			405	
B2. Number Ope	rating Days:			11	
B3. Reimbursable	e Breakfasts Served				
a. Free Brea	kfasts Served:			485	
b. Reduced F	Price Breakfasts Serve	d:	•	64	
c. Paid Break	kfasts Served:			629	
d. Total Brea	kfasts Served (a + b -	+ c):		1,178	

Created By: LXenophontos on: 1/10/2025 12:05:05 PM Modified By: LXenophontos on: 1/10/2025 12:05:54 PM

11900

Status: Active

05 Status: Active WEST HILL SCHOOL

Rocky Hill School District

95 Cronin Drive Rocky Hill, CT Rocky Hill, CT 06067

DBA:

Rocky Hill Board of Education 761 Old Main Street Rocky Hill, CT 06067-0627

Type of Agency: Educational Institution
Type of SNP Organization: Public

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Dec 2024	0	01/10/2025	01/10/2025	01/27/2025	Original

Dec	2024	0	01/10/2025	01/10/2025	01/27/2025	Original
Sch	nool Nutrition Pro	gram Gen	eral Information			
G1.	Total Number of Chi	ldren Appro	ved for Free Meals:		61	
G2.	Total Number of Chi	ldren Appro	ved for Reduced Price	Meals:	12	
G3.	G3. Attendance Factor Percentage:				94.0	
Nat	tional School Lune	ch Progra	m			
L1.	Number of Enrolled	Children:			399	
L2.	Number Operating [Days:			15	
L3.	Reimbursable Lunch	es Served				
	a. Free Lunches Ser	ved:			524	
	b. Reduced Price Lu	nches Serve	ed:		109	
	c. Paid Lunches Serv	ved:			1,313	
	d. Total Lunches Ser	rved (a + b	+ c):		1,946	
Sch	nool Breakfast Pro	gram (Re	gular Reimbursen	nent)		
B1.	Number of Enrolled	Children:			399	
B2.	Number Operating [Days:			11	
вз.	Reimbursable Break	fasts Serve	i			
	a. Free Breakfasts S	Served:			272	
	b. Reduced Price Bro	eakfasts Se	rved:		28	
	c. Paid Breakfasts S	erved:			511	
	d. Total Breakfasts S	Served (a +	b + c):		811	

Created By: LXenophontos on: 1/10/2025 12:05:57 PM Modified By: LXenophontos on: 1/10/2025 12:06:33 PM